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Q1.

i water can be easily dgvartecf fo: ﬁre _&htmgin thlS sysfém »
Option A: | Grid iron system _:

Option B: | Dead end system- -
Option C: | Radial system = <

Option D: | Gravity syst;e‘fﬁ};; : R ~ \ . D s
2. | Within first five days BOD demand get satisfied
Option A: | 48% Fa b P E QP I NS o oo 0

Option B: 580/’; S T P LT R ey ¢ T =

Option C: 78%W S
Option D:_.I"68 %-_". %

Whlch\mfer trcatmgnt p;;oéess is'di
Frlmar}*sedxmentatgonl o
OptIQHB‘-:- Secondar‘ysedunengatlon Ao
Option C: ' Disinfection & » > .. .~
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1F Toccufation Xy

Optlon"C

,lmed apron aerator
ravel'bed aerator




.......

6. o
A right angle sleeve made of brz 3
Option A: | Goose neck )
Option B: | Ferrule .
Option C: | Service pipe L&
Option D: | Stop cock 5
7. What indicates the permanent F 1 dness when alﬁrn»ls addeeI to water
Option A: | AI(OH);
Option B: | Ca SO4 * RS
Option C: | CO2 e
Option D: | Ca(OH), A
8.
Option A: Tncklmg filter
Option B: | Oxidation pond o
Option C: | Activated sludge process '
Option D: | Septic tank 5
-
9.
Option A: | PANs oo ;‘,-- g
Option B: | Carbon dioxide -
Option C: | Carbon monomde
Option D: N1trog_eh ﬂi@xlde
10.
Option A:
Option B: .|’ Iﬁandﬁllmb
Option C:' | Compos stmg_ S R,
Option D: éhemxcal premp 1tat;c T

5 marks each

| Explain the uctors affecting the location of intake structure

3 - Ex‘plqm»tk “ fiechanism of coagulation and flocculation

RS Y 7, | diamieter:

1300 Take Manning’s constant N=0.013

{trie velocity and rate flow of sewage flowing through the sewer of
360mm and running half full. Sewer is laid at the gradient of lin

Sqlve any one of the following

10 . .rks each

S ._Destgn the rapid sand filter with under drainage .sjysfem to treat 7.5MLD
Of raw water. Assume rate of filtration 6000 lit/hr/m?, assume 5% vater
" | .and 30 minutes required for back washing.

Following is the data for the single stage trickling filter

gZSewag_ ﬂow~ 4.5MLD b) BODS of raw sewage= 250mg/.’

s ]p P =



c)recirculation ratio=2  d)depth of media=2M. ﬂBOD of
efﬂuent—ZSmg/! ﬂ BOD removai in pr:ma?y )‘anﬁ 30 @ 3

Q3 (A)

Write down the effect of air pollution o} ?u)
Show that 70dB + 70dB £ 140dB S
Explain in detail self-purification g@gm& Of stream: . &
Explam Sfunctional elements of so[ Iql w&sﬁ? ﬁ@h@emgm

Al (Wit —

_ .Explain different methods @f wafer Sgﬁemng 3
Q4 (A) Solve any Two Questions out of Three ' -~
Differentiate between ane. jﬁqu and two.r - pipe system

1

2 Chlorine usage in tre&?meﬂt anOMLDof

3

1 kjbrsﬁéwng calony bﬁﬂﬂﬁ‘?@@gfe S :\.m‘er supply rate is
d?rafzk ,;f 'cheak dnce m‘two % zaw the sectional

2 / EManlg?O‘Ireé I;QZ(JZE of raw water. Assume flow

0.F5t/h ‘fn?f and detention time of

3 [p ag =



